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Instructions —
(1) All questions are compulsory.
(2) Internal options are given in question numbers 6 to 23
(3) Question numbers 1 to 5 are 32 objective types question

question carries 1 mark [32x1=32].
(4) Question numbers 6 to 15 each carries 2 marks. Answer these

s. Each objective

. guestions approximately in 30 words each.
B (5) Question numbers 16 to 19 each carries 3 marks, Answer these
questions approximately in 75 words each.
(6) Question numbers 20 to 23 each carries 4 marks, Answer these
questions approximately in 120 words each.

(7) Draw neat and labelled diagrams wherever necessary.
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Select and write the correct altemative -
(i) Who produces the goods —
(a) producer (b) consumer

(c) Distributor (d) Seller
(i) The survey under which all the elements of the population are included -
(a) sample (b) state
(c) Census (d) Questionnaire
(iii) “Diffraction is the measure of the variation of the terms”. Whose statement is -
(a) Baule (b) Marshall

(c) Keynes (d) Robins

(iv) In which year was the Planning Commission established in India -
(a) 1947 (b) 1948

(c) 1949 (d) 1950

(v) source of human capital formation -
(a) education (b) health

(c) migration (d) all of the above

(vi) Economic reforms in India were started in the year -

(a) 1990 (b) 1991

(c) 1992 (d) 1993

(vii) India's highest workforce works in which field -

(a) primary sector (b) secondary sector

(c) Tertiary sector (d) none of these
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*6) Write True or False =

(i) Statistics solves economic problems.

(ii) Arithmetic mean is not a constant mean.

(iii) Agricultural diversification has an important contribution in economic development.

(iv) Deforestation is one of the causes of soil erosion.

(v) The country with the highest population density is India.

(vi) In the year 2010, the population of China was around 134 crores.

(vii) H.D.l. There are three main components.

U4 T aaEd -
‘ar’
(i) sifdm g=al & smwifaa
(i) rdsaT & 9T S
(iii) WRE d aFAE SHa= gTdRI
(iv) gsuRHSt
(v) uroia Qe & 7
(vi) urfehear 7 snffes gur
Match the columns -
"
(i) unaffected by final prices
(ii) Tillage at the time of independence
(iii) Current life expectancy in India

(iv) Hadapsar Mandi

(v) Measurement of sustainable development

(vi) Economic Reforms in Pakistan

(1x6=6)
o

(&) got

(@) &Ra e am
(m) 1988

(a) 65ad

(z) @fvea ofi

(@) =

’|B'
(@) Pune
(b) Green National Income

(c) 1988

(d) 65 years

(d) were fragmented

(f) median
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(iv) Searet @ ?
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(vi) o sfor aterT e wfid @ 7

Answer in one sentence -

in the state of
(i) In which year 'Padhna Badhna' program was Starteit )

Madhya Pradesh ?
(ii) Write the full name of MNREGA.
(iii) What is unemployed labour ?
(iv) What is production process ?
(v) What is the name of the currency of China ?

(vi) With whom is the Golden Quadrilateral scheme related ?

n.6 srfareragrg?

What is economics ?

SHYdT/OR
qifeyd a7 g 2

What is statistics ?
n.7 m‘aﬂ‘armﬂawwﬁamrwmm#?

What do you understand by classification of data ?

STY4T/OR

HHeI & Heher (HUFOT ) ot vy aref 2 2

What is meant by collection of data ?

(1 %6y 1.8 it
Wr

(2)

(2)
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A SIuET/OR
ST R g e T @ ?

When do we draw a time series diagram ?
HHIR AT & HehR GHEE | :
Explain the types of arithmetic mean.
3HUdT/OR
HifeAe ok ageren & d A T AR "Ry |
State two main differences between median ang m
010 uRelgoraarg ? s
What is dispersion ?
HUAT/OR
waTg e (T Baes ) @ @ar smm 2 2

What is meant by standard deviation ?

0.9

711 i & eaTaar iR T T S @ 2
What is meant by commercialization of agriculture ?
SHYCT/OR
72 iR A & qE LW FTE ? (R )
What are the main objectives of the new agricultural policy ? (any two)
g.12 AE Ueh g Sffe Safe; o ey i e w |

Explain the relation between human capital and economic growth.

AY4T/OR
Sfarer i urRofa R @t o FER werr e
How does organic agriculture promote sustainable development ?
w.13 srfiter ST AT &Y aRHTE S |

Define worker population ratio.

31ydr/OR
mﬁwﬁﬂiﬁmﬁaﬁm%usﬂmﬁiﬁmﬂqﬁaﬁh

India has abundance of natural resources. Give arguments in support of

this statement.

(2)

(2)

(2)

(2)
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Write a short note 0N SAARC.
&ma'rZOR

S F s e i 7 gt PAgaTd F 2 7

What are the important implications of the one child policy in China ?
915 i £ srdaaen 1 vz & w0 AT |

Write the reasons for the decline of Pakistan's economy.
7yar/OR.
a1 BT & Rfta @daet #1 7 FIFT |
Mention the various indicators of human development.

.16 wrafis vd Rt avat 4 s we e |

Explain the difference between primary and secondary data.

ST441/0R.
& s e e R 1 (7 )

(3)
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Analyze the
recent t
rends in the sectoral distribution of labor force |
abor force in India

STUEAT/OR.
<af rgwor T & 2 e o |

What is noi :
S noise pollution ? What are the reasons for thj
s,

' W.20 3mesf wren & amasaes aw (7o) fAifa |

(3)

| Write the essential elements ( properties ) of ideal
mean,

HUCAT/OR.
Fréarien 1 Rstaand aam | (@ ar )

State the characteristics of coordinates. ( any four )

w.21 % anffer ifa aan @ 7 7€ snfefes A & v i a0 e |

What is New Economic Policy ? Explain the main advantages of the New (@)

Economic Policy.
3HUdT1/OR

¢ arffer GuRY & aran Sifvmma @ 7 wra # anfifes gur aaf g (sm ) Ry g |

What is meant by economic reforms ? Why were economic reforms started

(4)

| in India.
| 0.22 et eqmaR if & @ eH Jord Y ?
What steps were taken in the new trade policy ? =
31udT/OR
mﬁﬁqmmﬁﬂ&zﬁéwmum%@q |

Write any four positive effects of economic reform programmes.

7.23 R A wa gt Fmfor it g FH@NG F 18 ?
What are the main problems of human capital formation in Indi
udr/OR
waﬁq:ﬁﬁumuﬁrmzﬁ@m (Zw) aramEy |

raints (defects) of agricultural marketing process in

8 (@)

Mention some const India.
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